

MOR CONSTRUCTION (N) 621 EAST BAYI IS CHAPE COLUMBIA, ME 19429 PROME 601.701,7716 FAX: 601.731,2774

Mr. Clint Brown
Flordia Public Utilites

Invoice ti	
Week Ending	October 28, 2018
Foreman	Roy Sullins
Storm Number	FE1890469751430

			Storm Number	FE1890469751430
				,
Overtime		Qty	Price	Total
Foreman	1 22 4 3 8	112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	k Driver	112.00	69,99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
Equipment	**************************************	Qty	Price	Total
Crew Cab Pick-	up	112.00	24,31	2,722.72
Material Handle	r Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	112.00	17.60	1,971.20
			Total Equipment	. 20,606.88
			Total Due to MDR	65,899.68



Foreman Roy Sullins FE1890469751430 Week Ending

10/28/2018 Location Florida Public Utilities

	Men a	nd Ho	urs					To	tals		AND MANAGES LABORED	
Weekday	22	23	24	25	28	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	5	RT	or			
Roy Sullins	16	16	116	16	16	(6)	16		1112			Foreman
Josh Smith	16	16	16	16	16	16	16	13230321	112		- Service	Lineman
Barry Barnelt	16	16	416	16	16	416±	16	10 G	112		100000	Lineman
Dakota Hudson	16	16	16	16	16	16	16	1920131193	112	1000000	Sto isticit	Operator
acob Weich	16	16	:16	16	16	16	. 16		112	66 to 1		Groundman
												1919 files
n i ta karanan marangan 1993 m												1
** TO 187 / 776   10   10   10   10   10   10   10   1		A 175, 57.			17 a 2 - 10 7							

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional

Additional Information								
Monday	5,00/AM - (10,00 PM							
Tuesday	6:00 AM - 10:00 PM							
Wednesday	6:00/AM x 10:00 PM							
Thursday	6:00 AM - 10:00 PM							
Friday	6(00/AM - 10(00 PM							
Saturday	6:00 AM - 10:00 PM							
Sunday	6:00'AM-10:00(PM							

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

EQUIPMENT									
Equipment#	M	T	W	T	F	S	\$	To	From
818 Orew Cab Pickup	16	.16	116	(16)	16	16	13		
741 Material Handler Bucket	16	16	16	16	16	16	16		
590 Material Handler Buckel	16	116	16	18	16	16	16	The second secon	
650 Digger Derrick	16	16	16	16	16	16	16		
749 Pole Třellei	16	16	16	16	118	18	16		
					e e e e e e e e e e e e e e e e e e e				and the second s
F									

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer. MDR Construction C-101

FPUC-HM - 00884



Foreman Roy Sullins Job No FE1890469781430

Week Ending 10/28/2018 Location FPU Marianna Hurr. Michael

	Men a	nd Ho	urs					To	tale			
Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	1	W	17	F	S	S	RT	or			
Roy Sullins	16	16	16	16	16	16	16					Line-Foreman
Josh Smith	16	16	16	16	16	16	16	,,,,				Line-Journeyman
Barry Barnell	16	16	16	16	16	16	16					Line-Journeyman
Dakota Hudson	16	16	16	16	16	16	16					Equipment Operator
Jacob Welch	18	16	16	16	16	16	16					Line-Groundman
		parabonidad		4344 COPYL								
ukakitan wasan ta katan da							-01 r. b 114	,, ., .v,				
												YS/A = A to the Management of the same of
												July Ward and a same

In the spaces provided above list oil employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foremen, indicate this by putting the other Foremen's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please spacify days on each job under Additional information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional information. Regulations for regording meals is located at the bottom of this sheet.

	. Additional info	rmellon
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Tuesday	Start 6:00 em thru 10:00 pm	Working at Marlanna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marlanna, F.L.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

					EQUI	PMEN	7		
Equipment #	M	T	W	T	F	8	8	To	From
618 Crew Cab Pickup	16	16	16	16	16	16	16	4	
741 Material Handler Bucket	16	16	16	18	16	16	18		** * * * * * * * * * * * * * * * * * *
590 Material Handler Bucket	16	16	16	16	16	16	16	M. Now	
660 Digger Derrick	16	16	16	16	16	16	16	1/1/1/	
749 Pole Trailer	18	18	16	16	16	16	16		
								10 30 10	- Allendaria de la companya della companya della companya de la companya della co
A Company of the State of the S				4848884, 17 92	400.161	.,,,,,,,,,	*******	A Table 1	31.41.
		ANALYSIA (MARTINIA)	Trend # - 1 1 1 1/4						1 1011111
	1.424,000	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night.

Meals for Monday momings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last MDR Construction

C-101



MOR CONSYNUCTION, (AL 60) CAST BAYLIS CHAPE COLUMBIA, MS 39459 PHOME 601,731 2716 FAX: 601 781,5774

Mr. Clint Brown							
Flordia Public Utilites							

Invoice #	•
Week Ending	October 28, 2018
Foreman	Jeff Thompson
Storm Number	FE1890469751430

			otorni (vatinasi	142000100104400
Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	Driver	112.00	69,99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
<u>Equipment</u>	poted	Qty	Price	Total
Crew Cab Pick-	<b>Jp</b>	112.00	24.31	2,722.72
Material Handler	Bucket 57'	224.00	47.36	10,608.64
Digger Truck	b, Lowell	112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		То	tal Equipment	20,606.88
	50, I. 1813	Tot	al Due to MDR	65,899.68



Foreman

Jeff Thompson

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs					То	tals			
Weekday	22	23	24	25	26	27	28			Meals	Motels	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Jeff Thompson	16	116	16	16	18	16	16		1112		er en s	.Foreman -
Chris McKee	16	16	16	16	16	16	16		112			Lineman
Justin Weston	16	16	• 16 ·	18	<b>416</b>	16	184		112			Lineman
Justin Liles	16	16	16	16	16	16	16		112			Operator
Adam Land	16	16	116	16	16	16	16	20.24	112		1	- Groundman
es brancous											35 74 2003	State of the Artist State of the State of th
				(F.32)					e e			AU-
												territoria de la companya del companya del companya de la companya

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero, If one of your crew members worked with another Foremen, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information
Monday	610D/AM - 10100 PM
Tuesday	6:00 AM - 10:00 PM
Wednesday	6/00/AM - 40/00/PM
Thursday	6:00 AM - 10:00 PM
Friday	6:00 AM - 10:00 PM
Saturday	6:00 AM - 10:00 PM
Sundey	BIDDIAMIC (DIBDIPM)

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

*					EQUI	PMEN	r		
Equipment #	M	T	W	T	F	\$	S	То	From
Ser/ (crew shab) Pickup	(16)	16	1(6)	316	115	16	16	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
739 Material Handler Bucket	16	16	16	16	16	16	16		
583 Material Handler Buckett	16	16	16	16	. 16 v	16	46		
480 Digger Derrick	16	16	16	16	16	16	16		
908 Pole Trailer	113	16	16.	16	16	16	16		
								Sagar de Sagar	
							遊戲		

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

**MDR** Construction



FE1890489761430

Foreman

Jeff Thompson

22	23	and the second	Man and Hours  Weekday   22   23   24   25   26   27   28								
	1 40	24	25	26	27	28		a transfer de l'America	Mea	Other	
M	T	W	T	F	8	9	RT	OT	S		
16	16	16	16	18	16	16				Line-Foreman	
16	16	16	16	16	16	16				Line-Journeyman	
16	16	16	16	16	16	18		11/22/300000		Line-Journeyman	
16	16	16	18	16	18	16	7,4			Equipment Operator	
16	16	16	16	16	16	16			m91114-42-	Line-Groundman	
			-			**********					
	16 16 16 16	16 16 16 18 18 16 16 16	16     16     16       16     18     18       16     16     16       16     16     16       16     16     18	16     16     16     16       16     16     16     16       18     16     16     16       16     16     16     18	16     16     16     16     18       16     18     16     16     16       16     16     16     16     16       16     16     16     16     16       16     16     16     16     16	16     16     16     16     18     16       16     18     16     16     16     18       18     16     16     16     16     16       16     16     16     16     16     16	16         16<	16     16     16     16     16     16     16       16     16     16     16     16     16     16       16     16     16     16     16     16     16       16     16     16     16     16     16     16       16     16     16     16     16     16     16	16     16     16     16     18     16     16       16     16     16     16     16     16     16       18     16     16     16     16     16     16       16     16     16     16     16     16     16       16     16     16     16     16     16     16	16     16     16     16     16     16     16       16     18     16     16     16     16     16       18     16     16     16     16     16     16       16     16     16     16     16     16     16	

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with enother Foreman, indicate this by putting the other Foreman's initiate in the corresponding space, Piease add up the total hours for each employee and indicate any hours over 40 as overtime, if you worked on more than one job during the week please specify days on each job under Additional information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional information. Regulations for reporting meals is tocated at the bottom of this sheet.

	Additional Infor	nation
Monday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of tital. If part of the day was storm and part of it was your regular job please give specifics for each.

				EQ	WIPM	ENT					Mary 4 Paris Co		
Equipment#	M	T	W	T	F	8	8		44472		1		
597 Crew Cab Pickup	18	16	18	16	16	16	16			١	1	!	On the Control of the
739 Material Handler Bucket 85'	16	16	16	16	18	16	16				10W	7	**************************************
583 Material Handler Bucket 65°	16	16	16	16	16	16	16	717	W	7			, . · · · · · · · · · · · · · · · · · ·
180 Digger Derrick	16	16	16	16	16	18	16	1	1		111		
308 Pole Traller	18	16	16	16	16	18	18		10	(41)	118	W	
					inchiales de la constitución de			-	TU	V	a.Lesteman		
								and the land and the land of	- Haman		//////////////////////////////////////	4	
									******			Carrena year a	
								-			····	**************************************	

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Grews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for the afternoon of the fact day of the work wask. Please report your meals each week according to these cultidities. All meals for amployees on storm work should be charged on the MOR Construction.



MDR CONSTRUCTION, UN 621 EAST BAYING SHAPE DOLUMBIA, MS 19427 PHONE 601.731 \$716 FAX: 601.731,3774

October 29, 2018

Mr. Clint	Brown
Flordia Po	ublic Utilites

١	nvo	ice#	
14/00	LEn	ding	

Week Ending October 28, 2018
Foreman Billy Hayes
Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254,88
Lineman		224.00	84.65	18,961.60
Operator/Truck		112.00	69.99	7,838.88
Groundman	7,207,14	112.00	64.62	7,237.44
Marine Table			Total Men	45,292.80
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-	up	224.00	24.31	5,445.44
Material Handle	r Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer	*	112.00	17.60	1,971.20
4 Wheeler/UTV		112.00	17.60	1,971.20
18' Material Tra	iler 2,2000a)	224.00	10.00	2,240.00
		Tot	al Equipment	27,540.80
	1221,486)	Tota	l Due to MDR	72,833.60



Foreman Billy Hayes Location

FE1890469751430

Week Ending 10/28/2018

Florida Public Utilities

	Men a	nd Ho	urs					To	tals			
Weekday .	22	23	24	25	28	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	8	S	RT	OT			
Blily Hayes	16	16	16	16	16	16	16		1112			Foreman
Adam Waltes	16	16	16	16	16	16	16	Wasana	112	CONTRACTOR	1000000	Lineman
lustin Oliver	161	16	16	-16	116	16	16		112	10.		Liheman
Blake Brown	16	16	16	16	16	16	16	CONTRACTOR CONTRACTOR	112		1012-1213	Operator
Blake Roberts	16	1(8)	-16	16	16	16	16		112	-1		Groundman
							129	v Salves				(the state of the state of
The second		The Training			7	4.6	7.61					
The state of the s					als Vist 1							

full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

	Additional information
Monday	(A)
Tuesday	6:00 AM - 10:00 PM
Wednesday	8:00 AM - 10:00 PM
Thursday	6:00 AM - 10:00 PM
Friday	6:00 AM : 10:00 PM "
Saturday	6:00 AM - 10:00 PM
Sunday .	B(007AM → 10 (00 PM

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular lob please give specifics for each

		ELITES			EQUI	PMEN	T		
Equipment #	M	T	W	T	F	S	S	To	From
754 Crew Cabi Plokup	(13)	16	(3)	16	1[6]	16	(6)		
742 Material Handler Bucket	16	16	16	16	16	18	16		
748 Meterial Handler Bucket	16	16	16	16	18	16	18		
773 Digger Derrick	16	16	16	16	16	16	16		
dheireale, Trailei	16	16	46	16	16	16	218		
762 18' Material Trailer	16	16	16	16	16	16	16		
129 18 Malerial Trailer	. 16	16	16	16	16	16	16		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
JtV	16	16	16	16	16	16	16		
571 Ofew Cab Pickup	16	18	16	48	16	16	46		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night, Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

<b>A</b> A		Name and
		-
ONBT	12/11 C	710

Foreman

Billy Hayes

Job No

FE18904697761430

Week Ending

10/28/2018

Location FPU Marlanna Hurr. Michael

	Mon a	id Ho	Ire .		Lab raine Brita	1111111		To	Totals				
. Weekday	22	23	24	25	26	27	28		RT OT		1 8	Meals	Other
Employee Name	M	ዣ	W	Î	F	\$	\$	RT					
Billy Hayes	16	16	16	10	18	16	16				Line-Foreman		
Adam Walts	16	16	16	16	16	16	16				Line-Journeyman		
Justin Oliver	16	16	16	16	16	16	16	4-First mentals			Line-Journeymen		
Blake Brown	18	16	18	16	16	16	16				Equipment Operator		
Blake Roberts	16	16	16	16	16	16	16	***********			Line-Groundman		
	_										And the second s		
Parada Aldyment on you represent the feature from the second control of the second contr								-			And the party of t		
and an a second of the following the following and the following a													
			1										

in the spaces provided above list all employees full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with enother Foreman, indicate this by pulling the other Foreman's initiate in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as avertime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for repositing meats is located at the bottom of this sheet.

	Additional Inform	atlon .					
Monday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL					
Tuesday	Start 6:00 am thru 10:00 pm	Work at Merlanna, FL					
Wednesday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL					
Thursday	Slart 6:00 am thru 10:00 pm	Work at Marlanna, Fl.					
Friday	Start 6:00 am thru 10:00 pm	Work at Marlanna, FL					
Saturday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL					
Sunday	Start 6:00 am thru 10:00 pm	Work at Marianna, FL					

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

				E	NAIUE	ENT	******	
Egulpment#	M	T	W	T	F	8	S	
764 Crew Cab Pickup	16	18	16	16	18	16	16	
742 Material Handler Bucket 55'	16	16	16	16	16	16	16	IV.
743 Malerial Handler Bucket 66'	16	18	16	16	16	18	16	XOM
773 Digger Demick	16	16	16	16	16	16	16	
519 Pole Traker	16	16	16	18	16	16	16	1 Jalis
762 18' Trailer	16	16	16	18	16	16	16	10 9011
429 18' Traller	16	18	16	16	16	16	16	· · · · · · · · · · · · · · · · · · ·
UTV	16	16	16	16	16	16	16	
571 Crew Cab Pickup	16	16	16	16	16	16	16	

MDR Construction

Weekly Timesheet



MOR CONSTRUCTION IN 621 CAST BAYLIS CHARE COLUMBIA, MS 29487 PHONE 601 721,2716 FAX: 601 721,2774

October 29, 2018

Mr.	Clint	Brov	vn
Flor	dia Pi	ublic	Utilites

## Invoice # Week Ending October 28, 2018 Foreman Cole Wyatt Storm Number FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		224.00	84.65	18,961.60
Operator/Truck	k Driver	16.00	69.99	1,119.84
Groundman		240.00	64.62	15,508.80
			Total Men	46,845.12
<u>Equipment</u>	F-22-1	Qty	Price	Total
Crew Cab Pick-	up syaasaa	224.00	24,31	5,445.44
Material Handle	r Bucket 57'	224.00	47.36	10,608.64
Digger Truck	1,000,00	112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		Tota	l Equipment	23,329.60
		Total	Due to MDR	70,174.72



Foreman

Cole Wyatt

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs				*************	To	tals			
. Weekday	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Gole Wyatt	16	46	/16	16	(13)	16	(6)		102			Foreman
Delbert Helton	16	16	16	16	16	16	16		112	2555535	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	Lineman
lonn Taylor	16	16	16	16	116	16	16		112		100.48	" Liteman
Daniel Blackweil	X	X	X	X	X	X	18	MANAGE CO.	16	100000	St. Ministra	Operator
Charles Spangler	168	Х	X.	×	X	X	X		16			- Groundman
Dämlon Foster	16	16	16	16	16	16	16	Washing and	112	- Anna Anna Anna	ZUNKILIKA	Groundman
ayton Monk	16	16	16	18	16	18	16		412			ு அ <b>செய்றுள்</b> ளு
										100 de 100 d		
				2.7.61								

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Mondey	6:00 AM: 10:00 PM									
Tuesday	6:00 AM - 10:00 PM									
Wednesday	= 6700 AME (10:00 PM#									
Thursday	6:00 AM - 10:00 PM									
Friday	600 AM + 10(00 PM									
Saturday	6:00 AM - 10:00 PM									
Sunday	6/00/AMP (10/00/PM)									

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

					EQU	PMEN	T		
Egülpment#	M	T	W	T	F	8	S	To	From
676 Crew Cab Pickup	46	16,	16	(3)	/(13)	13	(6)		
671 Material Handler Bucket	16	16	16	16	16	16	16		
657 Material Handler Bucket	418	-16	16	116	16	16.	416		
536 Digger Derrick	16	16	16	16	16	16	16		
196 Pole Trailer	16	16	(6)	16	16	16	16		
506 Crew Cab Pickup	16	16	16	16	16	16	16	Service (See Service )	
					- CAMPLE	MAS SOUTHER	TAX STREET		
									and the second second

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer, MDR Construction



Foreman Cole Wyatt Job No FE1890469751430

Week Ending 10/28/2018 Location FPU Marianna Hurr. Michael

	Men a	nd Ho	urs					Totals		*			
Weekday	22	23	24	25	26	27	28					Meals	Other
Employee Name	M	T	W	T	F	S	\$	RT	RT OT				
Cole Wyall	16	16	16	18	18	16	16				Line-Foreman		
Delbert Helton	16	16	16	16	16	16	16				Line-Journeyman		
John Taylor	18	-16-	16	18	16	18	16				Line-Journeyman		
Daniel Blackwell	X	Х	Х	Х	Х	Х	16				Equipment Operator		
Charles Spangler	16	Х	Х	Х	X	Х	Х				Line-Groundman		
Damlon Foster	16	16	16	16	16	16	16				Line-Groundman		
ayton Monk	16	18	16	16	16	18	16				Line-Groundman		
							***********						
**************************************		-											

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 se overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for tepporing meets is located at the bottom of this sheet.

	. Additional information									
Monday	6:00 am thru 10:00 pm	Working at Marianna, FL.								
Tuesday	6:00 am thru 10:00 pm	Working at Marianna, FL.								
Wednesday	6:00 am thru 10:00 pm	Working at Marianna, FL.								
Thursday	6:00 am thru 10:00 pm	Working at Marianna, FL.								
Friday	6:00 am thru 10:00 pm	Working at Marianna, FL.								
Saturday	6:00 am thru 10:00 pm	Working at Marianna, FL.								
Sunday	6:00 am thru 10:00 pm	Working at Marianna, FL.								

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

AMERICAN AND AND AND AND AND AND AND AND AND A				EG	UIPM	ENT		
Equipment#	M	T	W	T	F	8	8	
575 Crew Cab Pickup	18	16	16	16	18	16	16	
671 Material Handler Bucket 55'	16	16	18	16	16	16	16	1 cur
557 Material Handler Bucket	16	18	16	16	18	16	16	1 3
535 Olgger Demick	16	16	16	16	16	10	18	1/10/
196 Pole Traller	16	16	16	16	16	16	18	1 60014
506 Crew Cab Pickup	16	16	16	16	16	16	16	1014
		**********						
					All Gracions	******		The state of the s
A Dispute the state of the stat	•							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for the afternoon of the last day of the washed in the provided for the afternoon of the last day of the washed in the provided for the afternoon of the last day of the washed in the provided for the afternoon of the last day of the washed in the provided for the afternoon of the last day of the washed in the provided for the afternoon of the last day of the washed in the provided for the afternoon of the last day of the washed for annity case on allow work about the control of the provided for the afternoon of the last day of the washed for annity case on allow work about the control of the last day of the washed for annity case on allow work about the control of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the washed for annity case of the last day of the last day of the washed for annity case of the last day of the last da



MDR CRESTRUCTION DA 621 CAST BALLS FRANK BOLUMBIA, MS 14429 PHONE 601.711 2214 FAX: 601 731:2774

Mr. Clint Brown
Flordia Public Utilites

Invoice #	
Week Ending	October 28, 2018
Foreman	Darvin Grant
Storm Number	FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100,49	11,254.88
Lineman		224.00	84,65	18,961.60
Operator/Truck	Driver	112.00	69.99	7,838.88
Groundman		112.00	64.62	7,237.44
			Total Men	45,292.80
Equipment	rotal	Qty	Price	Total
Crew Cab Pick-	up	112.00	24.31	2,722.72
Material Handler	r Bucket 57'	224.00	47.36	10,608.64
Digger Truck		112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		Tot	al Equipment	20,606.88
		Tota	l Due to MDR	65,899.68



			10					_	PAGE 1	Val.	
Foreman	Darvin Grant	C	ø	N	S	T	R/U	C	TI	Sol No	

FE1890469751430

Week Ending

10/28/2018

Location

Florida Public Utilities

	Men a	nd Ho	urs					To	tals			
Weekday .	22	23	24	25	26	27	28			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Darvin Grant	16	16	16	16	18	16	113		112			Foreman
Wesley Matheny	16	16	16	16	16	16	16		112			Lineman
Adam Eubanks	16	16	16	16	16	16	18	> <b>4</b>	112		100	Lineman
Donald Mores	16	16	16	16	16	16	16	THE PARK WAS	112			Operator
Spencer Bryan	18	16	16	16	16	*16	<sup>9</sup> -16 <sup>9</sup>		112	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		Greundman
			i en		2 13 3 3 13 3		18 C 18	ililo k	7 7 10 1 2 1 7 10			
and the state of t						19 ay 14			NC 3.75	2000		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero, if one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive lime should be represented under Other, Please provide specifics for multiple job days in Additional

	Additional Information								
Monday	6:00 AM - 10:00 PM	00							
Tuesday	6:00 AM - 10:00 PM								
Wednesday	8:00 AM - 40:00 PM								
Thursday	6:00 AM - 10:00 PM	3							
Friday	600 AM- 1000 PM								
Saturday	6:00 AM - 10:00 PM	13222							
Sunday	6(00;AM)-(6(00)PM)								

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

					EQUI	PMEN	T		
Equipment#	M	T	W	T	F	\$	S	То	From
819 Craw(Crati Plokup	16	(18	(1)	/(6/	][6]	16	(6)		
733 Material Handler Bucket	16	16	18	16	16	16	16		
689 Materiali Handler Buoket	J6)	(6)	(13)	16	18	16	16		
724 Digger Derrick	16	16	16	16	16	16	16		
662 Polo Trailer	. 13	18	116	16	16	16	16		
A CONTROL OF THE STATE OF THE S									

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

**MDR Construction** 



Foreman Darvin Grant Job No FE1890469751430

Week Ending 10/20/2018 Location FPU Marianna Hurr. Michael

	Men a	nd Ho	irs					To	tals			
Weekday	22	23	24	25	26	27	28	CHICAGO TO SERVICE		Moals	Motel	Other
Employee Name	M	T	W	T	F	8	8	RT	QT			
Darvin Grant	16	18	16	16	16	16	16					Line-Foreman
Wesley Matheny	16	16	16	16	16	18	16					Line-Journeyman
Adam Eubanks	16	16	16	18	16	16	16					Line-Journeyman
Donald Moree	16	18	16	16	16	16	16		44-11-211			Equipment Operator
Spencer Bryan	18	16	16	16	16	18	16		entre com			Line-Groundman
		. Ji k p . rayer				(1m ~# <del></del>			1114-4-4			
odborden klasia wilder over engry designer of en or start & monometre		ages e ti Sinners	eneconstates.	count to "		adamontario						
The second last of the contract of the second of the secon			**********		,				÷			. 103
										<u></u>		
Market 14 / 1241 - 123/2000							-/					

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as exciting. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Info	rmation .
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL,
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Wednesday	Start 6:00 am thru 10:00 pm	Working at Merianna, FL.
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Friday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL.
Saturday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL.

List above any additional information needed. If you work on several clicults specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifice for each.

477(73)00 7300					Equi	PMEN	T		· · · · · · · · · · · · · · · · · · ·
Equipment ik	M	T	W	T	F	8	8	То	From
619 Crew Cab Plokup	16	16	16	16	16	16	16		
733 Material Handler Bucket	16	16	16	16	18	16	16		
689 Material Handler Bucket	16	16	16	16	16	16	18		
724 Digger Derrick	16	18	18	16	16	18	16	1/0	
662 Pole Trailer	16	16	16	16	16	16	16	10011	
								1013	
	4160								
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,								

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday momings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last MDR Construction.

Weekly Timesheet.



MOR CONSTRUCTION, DIE 621 EAST BAYINS EHARE COLUMBIA, MS 14429 PHONE 601 731-2716 FAXI 601 731-2774

Mr. Cli	nt Brown
Flordia	<b>Public Utilites</b>

Involce #	
Week Ending	October 28, 2018
Foreman	Joel Lee
Storm Number	FE1890469751430

Overtime		Qty	Price	Total
Foreman		112.00	100.49	11,254.88
Lineman		240.00	84.65	20,316.00
Operator/Truck	k Driver	112,00	69.99	7,838.88
Groundman		64.00	64.62	4,135.68
			Total Men	43,545.44
Equipment		Qty	Price	Total
Crew Cab Pick-	up grazaz	112.00	24.31	2,722.72
Material Handle	r Bucket 57'	224.00	47,36	10,608.64
Digger Truck	3,317,72	112.00	47.36	5,304.32
Pole Trailer		112.00	17.60	1,971.20
		Tot	tal Equipment	20,606.88
		Tota	al Due to MDR	64,152.32



Foreman Joel Lee CONSTR/UCTION FE1890469751430

Week Ending 10/28/2018 Location Florida Public Utilities

	Men a	nd Ho	urs					To	tals	Part (ner Danelhay)		
Weekday	22	23	24	25	26	27	28		Maritary knows	Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT			
Joel Lee	16	16	16	(3)	(16)	//6	716		16/2			Fereman
Ryan Williamson	16.	16	16	16	16	16	16	2022-2010	112	3445225		Lineman
Michael Motaurin 🔻 💎	16	16	16	16	16	16	16		112			Lipeman .
Colby Roberson	16	16	16	16	16	16	16	The state of the s	112	CE CHICAGO CO	SERVICE STATE	Operator
Ghase Deshazo	16	16	116	16	X	Х	X		64	2045		Groundman
Chris Chandler	X	Х	X	Х	X	X	16	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	16	- Sandard	oraz zonako	Lineman
ting the second												
and the second seco												
				( )							100	

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional information, Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sheet.

Additional information							
Monday	(ME) (00 (DE) MA(00)						
Tuesday	6:00 AM - 10:00 PM	100 de 100 d					
Wadnesday	B)00 AM - 10(00 PM)						
Thursday	6:00 AM - 10:00 PM						
Friday	CHODAWIE 10X00HBW						
Saturday	6:00 AM - 10:00 PM						
sunday)	(M9/00/00/00/PM)						

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

	EQUIPMENT										
Egulpment #	M	T	W.	. T	F	8	8	То	From		
BBG/Grew/Galb/Ellokup	(i)	(6)	6	Mir)	1]61	(i)	163				
427 Material Handler Bucket	16	16	16	16	16	16	16				
569 Material Handler Bucker	4(6)	(6)	113	16	16	16	416	1 70			
467 Digger Derrick	16	. 16	16	16	16	16	16		COMO RECOVERACION DE COMO DE C		
197 Polo Traller	916	(6)	(6)	- ( <b>1</b> 6)	16	16	16				
			Bancoran			ANIMA URVIE	and that		BUDANISMA BARANASA AND AND AND AND AND AND AND AND AND AN		
									u, jan saither a call		
	9730000	eranan		and was in the	and an inches	dia sindrata saka	SCOOL SERVICE SAME	170001 C 17000 00 00 00 00 00 00 00 00 00 00 00 00			
All the way on the same									The second second		

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

C-101



Foreman Joel Lee Job No FE1890469781430

Week Ending 10/28/2018 Location FPU Marianna Hurr. Michael

	Men a	Totals		2							
Weekday	22	23	24	25	26	27	28			Meals	Other
Employee Name	M	T	W	T	F	8	8	RT	RT OT 6		
Joel Lee	16	16	16	16	16	18	16				Line-Foreman
Ryan Williamson	16	16	16	16	16	16	16				Line-Journeyman
Michel McLaurin	16	16	18	16	16	16	16				Line-Journeyman
Colby Roberson	18	16	16	16	16	16	16				Equipment Operator
Chase Deshazo	18	16	18	16	Х	X	X				Line-Groundman
Chris Chandler	X	Х	Х	Х	Х	Х	16.				Line-Journeyman
			4								
			111.2.00								
the state of the s	1 1							المناسيا	السسين		

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foremen, indicate this by putting the other Foremen's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overline. If you worked on more than one job during the wask please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple lob days in Additional Information. Regulations for reporting meals is located at the bottom of this shoot.

	Additional inform	nation
Monday	Start 6:00 am thru 10:00 pm	Working at Marianna, I-L
Tuesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Wednesday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Thursday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Friday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL
Saturday	Start 6:00 am thru 10:00 pm	Working at Marlanna, FL
Sunday	Start 6:00 am thru 10:00 pm	Working at Marianna, FL

List above any additional information neaded, if you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

	***************************************		-1.	E	WILL	ENT		
Equipment#	M	T	W	T	F	8	S	
596 Crew Cab Pickup	16	16	16	16	16	16	16	
427 Material Handler Bucket 55°	16	18	16	16	16	16	16	1 Van
559 Material Handler Bucket	16	16	16	16	16	16	16	MIZAU
167 Digger Derrick	16	18	16	16	16	16	16	
197 Pole Trailer	18	16	16	16	16	16	16	TONTIE
				34444				10130110
	***************************************		, i					

Please include in the spaces provided the number of meals for each member of the crow for the entire week. It is company policy to pay three meals per day for crews working out of town. Crows that drive to their job on Sunday are entitled to one ment for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work weak. Please report your meals each week according to these middlines. All meals for employees on storm work should be charact on the MDR Construction

C-101